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CONFIDENGCE INTERVAL FOR A POPULATION MEAN

Choose an SRS of size n from a population having unknown mean g
and known standard deviation o. The margin of error for a level C

confidence interval for y is (/\(29{ do know ®)

= e
mzvﬁ

Here z* is the value on the standard Normal curve with area C between
the critical points —z* and z*. The level C confidence interval for wis

x+tm

This interval is exact when the population distribution is Normal and is
approximately correct when # is large in other cases.

FIGURE6.4 To construct a level z* 1.645 1.960 2.576

C confidence interval, we must o =

find the number z*. This is how C 90% 95% .99%_

they are related. The area between —
—2z* and z* under the standard
hormal curve is C.
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SAMPLE SIZE FOR DESIRED MARGIN OF ERROR

The confidence interval for a population mean will have a specified
margin of error m when the sample size is

7o\ 2
n =
m




